EARAROBEEIERT — 2 N— IBISH —F

20125118188 (H) 8mKIR2H

Hil =0 reae) v5%2®

‘ [K1%] /J\Eﬁ‘ [REBE] — | & (£) 16000 RE

[A&4£] 1 7% :5,000,000 @ ~ 23 :1,150,000 @ 3 3&:650,000 4 7% :450,000 @ . 5 7& :250,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NI=2 9N 41, -2-1- . - KNG (AtimE)
PR EON 4 2 ] 1(4&)3 1-2-1-1 | 38.8 5 :1:520) e Z2E]
L:BALINF Ry IR B:AJVE—FZ R BEX
I_4pO— #o2 | BRESES 1:41.8 7-5-6-3 |38.6| — | 1 | 468 |EHEE (timd)
S 55.0 @) () | DR
R:TIVHAZAILR B:HYHp/ TV BNBEHNS
N st 2 | HERE 1:42.1 1-1-2-2 |39.7| — 6 497 | #RFNEA (dbimaE)
AXET7 v TR 55.0 (1 1/2) wn | A t‘*y’ity K77 —L
v ZNELY b BAAAFHH ARET2-T7 -4
N 5 3 . —4-3— _ glfE— §
Foay YNy #H o2 sug%;%*i (11.432/.;1) 4-4-3-4 | 39.4 8 | 561 ‘.%hu%ii GKiR)
RTUBARILE Bi¥LamnERR #9) | Bmss
N HER 142, ~6-5- . — EEE (KR)
515|500y on RINT— o2 i (12412/28) 6-6-5-5 | 39.5 2 (4+794) ?—%‘%
R:YVZRE—-—3IZX4— BRI 2-4Fy k e
N— s = o2 | NEHET 1:42.9 10-10-8-6 [38.9| — | 4 | 463 |ZWFHRI (timdE)
61718 A =N Nkt 55.0 (3/4) (+9) IEE=
LA—JIh7 BEEXZ— IWE  #h=
N N N Rl EBTEAR :43. -8-7- . - ERE (KR)
71811 ik I B B o2 5?3.0 1(43?34 5678 |29 ° ::g) iET@‘é%
L:TVHAZIILR B:T7LyPa3 Ry s
. FHEERR : -9—10- — ZHE® (KR)
gl1l1|7nsaEz o2 e 1.(454).2 9-9-10-9 | 39.9 10 (4+320) ﬁ%\;_ y
LT RIAVYEX B:EvISTY— HEE {5—
= o2 | HEE— 1:44.6 3-3-4-6 |41.8| — 7 476 | BEE= (BER)
9|8[10 7717 5.0 @ 1/2) ) | LARE
LT N=—Hr - B:T7TA-XT757— U5 &g
= 5 BaANIZ 145, ~7-9— . = ZHEE (KR
1007l9|72VZ7v>a 2 g 1 (445) ’ AR " (ﬁg) BT K
LT RIAYIY IR BIIA—HTT INEF 415
_ N IR 46, “11-11- 5 - Al OKiR)
11 i 2h5xvTT o2 FRE) 1;&51 11-11-11-11{ 41.5 9 (igg) Eﬁgm
R:F¥vTToRT714—7T BRI b=U— R/ E77—L4L
@ 1 — S —EBlIEf
13—7— (2,6),10,3,9,5,7,11,1,8,4
20—F— 2,6,10,3,7,5,9,11,1,8,4
30—7+— 6,2,3,10,5,7,11,8,9,1,4
40—+ — 6,2,7,3,5,(8,10),11,1,9,4
[ N3
BB 6 720H 74K 6-7 350M & 6-6 950M 3EHE 2-6-7 2,910
8 B 6 180F4 2-6 1,610 B = 6-7 880M K31 6-7-2 20,520
7 120 2-7 720 | B H 6-7 3,220
2 460M

ABICOVWTRDTEEERROODE. TR LIV,




